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~ B.Tech. 4th Semester (CSE) Examination,
May - 2016

COMPUTER ARCHITECTUREAND
ORGANIZATION

Paper-CSE-210-F

Time allowed : 3hours ] [Maximum marks : 100

Note : Attempt five questions in total. Question No. 1 is
compulsory and attempt one question from each
section.

1. (a) D efi—ne—an—instfrﬂuetfien.—&ZQ;ZO‘—%

(b) Differentiate between primary and secondary
storage.

(c) Listany five shift micro-operations.

(d) Differentiate between flip flop and latch.

(e) Differentiate between encoders and decoders.
(f) Define locality of reference. \
(g) Mention various memory parameters.

(h) Define concurrency.
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2. Prove the following :
(i) Apositive logic AND gate operation is equivalent
to negative logic OR operation.
(ii) ABC+ABC+ABC +ABC=AB+BC+CA 20
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